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Worksheet-5        mu~FlIAW ryKw gixq DwrnwvW               

(Basic Geometrical Ideas) 
 

1.    ie`k kwgj qy iqMn ibdM U lgwau  Aqy iehnW nUM v`K-2 nW idau[ iehnW nUM joV ky bxy ryKwKMfW dy nW ilKo[ 

Draw three points on a paper and give them different names. Join these points and name the line 

 

 

 

 

 

 

2. qy ie`k sWJw ibMdU hovy qW auh_________ ryKwvW khwauNdIAW hn[ 

If two lines have one common points then they are called_______ 

3. do ryKwvW ie`k qoN ijAwdw ibMdUAW qy k`t skdIAW hn[ (shI/ glq) 

ore than one point. (true/false)Two lines intersect at m   

4. [ (shI/glq) 

More than two lines intersect at  one point. (true/false) 

5. [Name the angles in following figure. 

 

 

6.  ijhVy:  

Give the names of points in following figure  which are:  

1) iqRBuj dy AMdr siQq hn[Inside the triangle. 

 2) iqRBuj dy au~pr hn[On the triangle. 

 3) iqRBuj dy bwhr siQq hn[Outside the triangle. 

7. jykr koeI vkr ryKw Awpxy Awp nUM nW k`ty qW auh ___________________ vkr huMdI  hY[ 

If any curve does not intersect itself then the curve is called____________ 

8 cwr BujwvW vwlw bhuBuj _______________ khwauNdw hY[

A polygon with four sides is called____________ 

9. kyNdr ivcoN ho ky jwx vwlI jIvw c`kr dw ______________ khwauNdI hY  

A chord passing through centre is called ____________ 

 

segments made by joining these points.
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nwl id`qy ic`qr iv`c auhnW ibMdUAW dy nW ilKo

id`qy hoey ic`qr iv`c koxW dy nW ilKo

do qoN ijAwdw ryKwvW iek̀ hI ibMdU qy k`t skdIAW hn

jykr do ryKwvW 



10.  id`qI geI cqurBuj ABCD  iv`c       

 (a)  snmu`K BujwvW dy joV y ilKo[   ____________ 

 (A) lwgvIAW BujwvW dy joVy ilKo[ ____________ 

 (e) lwgvyN koxW dy joVy ilKo[      ____________ 

In Given quadrilateral ABCD write  

a) pair of opposite sides               ____________ 

b) pair of adjacent sides               ____________ 

c) pair of adjacent angles             ____________                                                                                                                       

 

11.   hyTW id`qIAW ivcoN Ku`lI vkr d`so[ 

Which of the following is an open curve? 

 

 

 

12. hyT id`qI ic`qr ivcoN 8 iqRBujW dy nW dso[   

Give the names of 8 triangles in following figure . 

 

 

13.  c`kr qy siQq koeI do ibMdU imlwaux qy bxn vwly ryKwKMf nUM kI kihMdy hn? 

What is the name of a line segment made by joining any two points on a circle 

14.  c`kr dy AMdr siQq auh ibMdU jo c`kr qy siQq swry ibMdUAW qoN smwn dUrI qy huMdw hY ausnUM c`kr dw 

____________ kihMdy hn[ A point which lies inside the circle and at equal distance from all 

points on the circle is called ______ 

15.  ie`k iqRBuj ABC bxwau iesdy AMdrunI Bwg iv`c iek ibMdU D lau[ D nUM ibMdUAW A,B Aqy C nwl 

imlwa[ dso iqRBuj ikMny BwgW iv`c vMifAw jWdw hY[ iehnW BwgW dy nW ilKo[ 

Draw a  ABC and take a point D inside it and join D with the points A,B and C. Now tell in how 

many parts the triangle will be divided and name these parts. 
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Worksheet-10 

        (Data Handling) 

1H 

   

nfws B/ S'fbnK d/ e[ZM phi iwhB ftuZ  phi/. jo uko fdB pknd g"d/ dh T[~ukJh wkgh ns/ j/m fbyh 

;koDh pDkJh. jo fpzd { dh T[ZukJh B{z fBo{fgs eo'.                                         

Amit plants some seeds of gram and he measured the height of plant a�er every four days. Plot 

the height of every point.  

 

2H  gzi fGzB^fGzB PfjoK yBz k, gfNnkbk, pfmzvk, ;ofjzd ns/ cohdeN'  ftZu ;szpo wjhB/ ftuZ  t/uhnK rJhnK  

ekoK dh ;zfynk j/mK fdZsh rJh j?^The number of cars sold in month of september in five different ci�es 

Khanna, Bathinda, Sirhind, Pa�ala and Faridkot are as follows. 

 

Pfjo (City) yzBk (Khanna) gfNnkbk(Pa�ala) pfmzvk(Bathinda) ;ofjzd(Sirhind) cohde'N(Faridkot) 

t/uhnK rJhnK 

ekoK  

(Sold Cars) 

 

600 

 

300 

 

400 

 

200 

 

500 

 

T[go'es ;u{ Bk bJh fuZso rkq c g{ok eo'.              

Complete the Pictograph of following table                        ;ze/s (Symbol)-                      = 100 ekoK (Cars) 

 

3H

 

 

 

fdB (Day) 
g"d/ dh T[~ukJh  ;w ftZu 

( height in cm) 

 0 0 

4 1H4 

8 5H3 

12 9H5 

16 10H9 

 

 

 

yzBk (Khanna)  

gfNnkbk(Pa�ala)  

pfmzvk(Bathinda)  

;ofjzd(Sirhind) 
 

cohde'N(Faridkot) 
 

 o'Bkbv B / nkgDh iwks d/ ftfdnkoEhnK d[nkok g;zd ehs / ikD tkb / cbK dh ;koDh pDkJh j?.    fuzB Q fJZe 

ftfdnkoEh dh ;{uBk fdzdk j?. ;koDh ftuZ  ftfdnkoEhnK dh ;zfynk g{oh eo'. Ronald prepare a table of 

favorite fruits of the students of his class.      symbol indicates a student. Complete the number of 

students in the table. 

AMkiVAW dw pRbMDn
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4H 

T) wzrbtko Bzz{ fezB/ puZ / ;oe; d/yD nkJ/< How many children came on Monday to watch circus? 

n) fe; fdB ;G s'A tZX puZ / ;oe; d/yD nkJ/ ns/ feBz /< On which day maximum number of children came 

and how many? 

J) ;'wtko ns/ p[ZXtko B{z e[Zb fezB / pZfunK B/ ;oe; d/yh< Total number of children who watch circus on 

Monday and Wednesday? 

5H ;t/o / 6 ti/ s'A d[gfjo 12 ti/ seZ  jo xzN/ ftZu uo" kj/ s'A j' e/ ikD tkbhnK rZvhnK dh ;zfynk j/mK SV rqkc  

d[nkok do;kJh rJh j?. rkq c B{z ;wM e/ T[Zso fdT[.                       

The number of cars pass through crossing in every hour from 6 AM to 12 AM are shown by Histograph. 

Read carefully and answer following. 

T) ;G s'A tZX nktkikJh edA'  j? ns/ fezBh j?< When is maximum number of transporta�on and how much? 

n) ;G s'A xZN nktkikJh ed'A j? ns/ feBz h j?< When is minimum number of transporta�on and how much? 

J) 8 s'A 10 ti/ sZe e[Zb fezBh nktkikJh j?< From 8 AM to 10 AM how much transporta�on is there? 

 

fe;/ fgzv ftZu ;oe; brZ h j'Jh j?. ;'wtko s'A P[Zeotko sZe ;oe; d/yD nkJ/ pZfunK dh frDsh fuZsorqkc 

d[nkok do;kJh rJh j?. j/mK fdZs/ fuZsorqkc B{z fXnkB Bkb gVQ e/ T[Zso fdU.There is a Circus show in a 

village. Number of children who are coming to see the circus from Monday to Friday are shown in a 

Pictograph. Answer following ques�ons by reading Pictograph.              (;ze/s (Symbol)-          = 25 pZu/)  

  

cb (Fruit)  fuzBQ (Symbol) 
ftfdnkoEhnK dh ;zfynk  

(No. of Students) 

e/bk (Banana)   

;zsok (Orange)   

;/p (Apple)   

nwo{d (Guvava)   

 

;'wtko (Monday)  

wzrbtko (Tuesday)  

p[ZXtko (Wednesday)  

thotko (Thrusday)  

P[Zeotko (Friday)  
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Worksheet-11                                                     

(Mensura�on) 

1H  ;kv/ o'ikBk ihtB ftZu gfowkg d / fynkb B{ z pj[s tko gq:'r ftZu fbnkdK iKdk j?.  

fit/A fe fJZe fe;kB fijVk nkgD/ y/s d/ uko/ gk;/ fJeZ  tkV brkT[Dk ukj[zdk j?. 

fJj' fijhnK giz  ;fEshnK dh T[dkjoBK fdU.  

The idea of perimeter is widely used in our daily life. For example a farmer who 

wants to fence his field. Give five examples of these situa�ons . 

 

 

 

2H  ;koDh g{oh eo'L (Fill the table)                                                  

   ;wpj[G[i dk BK 

 (Name of regular polygon) 

;wnkfeqsh (Regular Shape) gfowkg$x/ok (Perimeter) 

tor (Square)  4 X  fJZe G[ik dh bzpkJh  

4x (Length of One side) 

;wG[ih fsqG[i  

(Equilateral Triangle) 

 

HHHHHHHHHHH 

;wgziG[i ( Regular Pentagon)  

HHHHHHHHHHH 

;wS/G[i (Regular Hexagon)  

3H 

HHHHHHHHHHH 

j/mK fdZshnK nkfeqshnK dk gfowkg gsk eo'L(Find the perimeter of the following figures:)  

 
gfowkg(Perimeter) = AB + BC + CD + DA                  

                              
                   

 gfowkg(Perimeter)= AB + BC + CD + DE +               

                                                      
                                              

 

                           
 

                         
 

                   
 

gfowkg(Perimeter)   HHHHH O HHHHH O HHHHH O HHHHH O                          

 

         HHHHH O HHHHHO HHHHH 

 

                    &  HHHHHHHHH 

KyqrimqI 
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= ..... + ....... + .......
= .............

= EF + FG + GH + HI +

= IJ + JK + KL + LA +

= ....... + ....... + ....... + ....... + ....... + ....... + 

....... + ....... + ....... + ....... + ....... + ....... 

= .............. 



 

4H 

5H 

 

 

 

6H  fJZe Xkr/ dk N[eVk 30 ;w bzpkJh dk j?. jo/e Gi[ k dh bzpkJh fezBh j't/rh ie/ o Xkr/ Bkb ;wS/G[i pDkfJnk 

iKdk j??<(There is a 30 cm piece of string. What will be the side of a regular hexagon made by this string?             

 

 

 

7H  fe; nkfeqsh dk y/socb tZX j't/rk< (Which figure has larger area?) 

 

 

 

8H 

9H ;koDh g{oh eo'L (Fill the table)                                  

nkfJs$tor dh bzpkJh 

(Length of rectangle/Square) 

nkfJs$tor dh u"VkJh 

(Breadth of rectangle/Square) 

nkfJs$tor dk y/socb 

(Area of  rectangle/Square) 

3 ;w 2 ;w HHHHHHHHHHHH 

5 ;w 4 ;w HHHHHHHHHHHHH 

7 ;w 7 ;w HHHHHHHHHHHHH 

 

10  fJZe nkfJskeko rZs/ dk y/socb 36 tor ;w j? ns/ fJ;dh bzpkJh 9 ;w j?. rZs/ dh u"VkJh gsk eo'.  

 The area of rectangular card is 36 square cm. and its length is 9 cm. Find the breadth of card.  

 

 

11H 

 

fJZe torkeko gbkN dk y/socb gsk eo' fi;dh fJZe G[ik dh bzpkJh 4 ;w j't./    

 Find the area of Square plot whose one side is 4 cm. 

fe;/ ;wsb nkfeqsh d/ y/s/ ocb dh fJekJh eh j[zdh j<?  

What is the unit of area of plane figure? 

whok 150 whH bzpkJh ns/ 80 whH u"VkJh tkb/ fJeZ  gkoe ftZu iKdh j?. T[j fJ; gkoe dk g[ok uZeo brkT[Adh 

j?. T[; tZb'A sn?  ehsh do{ h gsk eo'.                           

Meera goes to park having length 150 m and breadth 80 m. She completes one round around the park. 

Find the distance she covered. 

1 tor whNo ftZu fezB/ tor ;w j[zd/ jB< (How many  2
cm    are in 1  2

m  ?)   
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Worksheet-12 

              
(Algebra)

 

1H 

 
b'VhAdhnK shbhnK dh ;zfynK 3n, n      dk w[Zb 1,2,3HHHHHH  

 

shbhnK d/ j/m fdZs/ Bw{B / pDkT[D d/ bJh b'VhAdhnK shbhnK dh ;zfynk d/ bJh fB:w gsk eo'. fB:w 

fbZyD bJh fJZe ub ;zfynk dk gq:'r eo'.Find the rule for number of matchs�cks required to make 

the following matchs�cks pa�erns. Use a variable to write a rule  

  HHHHHHHH      HHHHHHHHHH 

b'VhAdhnK shbhnK dh ;zfynK = .... , ....       dk w[Zb 1,2,3HHHHHH 

 

 HHHHHHHH    

HHHHHHHH   HHHHHHHH      HHHHHHHH       
b'VhAdhnK shbhnK dh ;zfynK = .... , ....       dk w[Zb 1,2,3HHHHHH 

 

       

2H 

 

;koDh B{z g{ok eo'L Fill the Table:  

 

feskpK (Books) feskpK dk w[Zb  

(Price of Books) 

ftnzie (Expression) 

 
10 o[gJ/ 

............ 

 

......... 

 

......... 

 

......... 

  
3H bhbk B/ g?Bf;bK d/ K g?eN/  yohd/. okXk B/ bhbk Bkb'A 2 j'o g?e/N tZX yohd/.okXk ns/ bhbk 

tZb'A yohd/ rJ / e[Zb g?eN/  ftnzie okjhA do;kU.  

Leela buys K packets of pencils. Radha buys packet of two pencils more than Leela. 
Write an expression for the total number of packets of pencils. 

 
 

 

4H ;kXkoD fB:wK ftZu uZb dh tos'A eoe/ j/m fbyh ;koDh g{oh eo'.          

By using Variables in common rules fill the following table: 

No. of Required Matchs�cks = 3n, where n = 1,2,3

No. of Required Matchs�cks = 

No. of Required Matchs�cks = 

bIjgixq
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5H  ;koDh g{oh eo'L Fill the Table:  

 

6H ekbw A ns/ B dk fwbkB eo'L Match the columns A and B: 

 

 

Column A Column B 
(i)  c B{z 5 Bkb r[Dk eoB s/(c mul�plied by 5) 

 
(ii)  z ftZu'A 9 xNkT[D s/(9 substracted from z) 

 
(iii) p B{z 4 Bkb Gkr eoB s(/ p divided by 4) 

 
(iv) q B{z d[ZrDk eoB s/ (q is doubled) 

 
(v) gfjbK y B{z 2 Bkb r[Dk eoe/ gqkgs 

r[DBcb ftZu'A 5 xNkT[D s/. 

First y mul�plied by 2 then 5 Subtracted 
from the product 

   
 

     
 

    
 

   
 

 

 
 

 
 

 

7H ftnzie gsk eo'L okw e'b Pkw Bkb'A fszB p'sbK finkdk jB, idfe Pkw e'b pe;/ ftZu 

e[Zb x p'sbK jB.                                          

Write an expression: Sham has x bo�les in a box. Ram has three bo�les more than 
Sham. 
 
 

8H ekbw 1   ns/ 11   dk fwbkD eo'L Match the Columns 1 and 11           : 

  

Column I Column II 
 
  

   

  

 
(i)       

 
(ii)       

 
(iii)        

 

(iv) 
 

 
     

 

phirfDs d/ fB:w 

Rules of Algebra 

T[dkjoB$fuZso 

Example/ Figure 

ftnzie 

Expression 

 

d' ;zfynktK d/ i'Vcb dk 

eqw tNKdok r[D 

Commuta�vity of 
addi�on of numbers.  

 

 

 

 

                ns/       

          

 

d' ;zfynktK d/ r[DBcb 

dk eqw^tNKdok  

Commuta�vity of 
mul�plica�on of two 
numbers. 
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4 + ... = 7 3 + ... = 7

a + b = .... .... ....

a x b = .... .... ....

2q

2y - 5

z - 9

5c

p

4

2 = 7 - x

3b = 21

4 + c = 12

8

15

5

n
5

= 3 7



Worksheet-13

1H  fuZso B{z d/y' ns/ j/m fby/ gqPBK d/ T[Zso fdUL                                          

 (Read Figure and answer following ques�ons:)      

T) fezB/ torK ftZu ozr ehsk frnk j<?  How many squares are shaded? 

n) fezB/ torK ftZu ozr Bjh ehsk frnk j?< How many squares are blank? 

J) ozr ehs/ torK dk ozrjhB torK Bkb nB[gks gsk eo'. What is the ra�o of shaded squares to blank squares? 

2H ;koDh B{z g{ok eo'L ( Try to complete Table:)  

3H

  

 fuZso ftZu 'O' ns/ '+' d/ nB[gks B{z ;ob o{g iK fBTB{ sw o{g ftZu fby'.       
In Figure What is the ra�o of   'O' to '+' in simplest form.                                     

                                                                                       
 

4H fuZso g{ok eo'L (Complete the figure)         

                                                                                                      

 

 5H

 

  

 

 

 

 fJZe Nkch dk w[Zb 50 g;? / ns/ fJZe ukeb/N dk w[Zb 10 o[gJ/ j?. Nkch d/ w[Zb dk ukeb/N d/  

w[Zb Bkb nB[gks gsk eo'. 

One Toffee cost s 50 paise and cost of one chocolate is Rs. 10. Find ra�o of cost of toffee  

to cost of chocolate .              

 

 

6   ;wkB nB[gks gsk eo'L (Find Equivalent Ra�os:)                                           

 

 
 

   

  
 

   

  
 

 

   
 

 

   
 

   

  
 

     

     

bVh 

Bzpo 

Sr. No. 

fsqG[iK dh ;zfynk 

Number of Triangles 

skfonK dh ;zfynk 

Number of Stars 

nB[gks 

Ra�o 

a) 
  3 fsqG[iK L 4 sko/ iK 3L4 

3 Triangles : 4 Stars or 3:4 

b) 
  .... fsqG[iK L .... sko/ iK HHHHH 

HHHH Triangles : .... Stars or ......  

c) 
  .... fsqG[iK L .... sko/ iK HHHHH 

HHHH Triangles : .... Stars or ......  

d) 
  .... fsqG[iK L .... sko/ iK HHHHH 

HHHH Triangles : .... Stars or ......  

 

Anupwq Aqy smwn Anupwq

(Ra�o and Propor�on)
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1 4 5

7
=

14 4221
= = =



7.  ;'B{z ns/ wB' {z d/ ftZu 20 ;/pK B{z 3L2 nB[gks ftZu tzv'.Distribute 20 apples between Sonu and Monu in 3:2 ra�o. 

 

 

8H tor       ftZu fJZe nfijh ;zfynk j? fi; Bkb     , 24, 9, 12 ;wkB nB[gks ftZu j' iKd/ jB, nfijh ;zfynk gsk 

eo'.                                                           

 

9H ojhw By 60 o[gJ/ d/ 2 feHrqkH ;/p tu/ / ns/ o'PB B/ 120 o[gJ/ d / 4 feHrqkH  

 ;/p t/u/, fe;B / ;/p wfjzr/ t/u</        

Rahim sold 2 kg of Apples for Rs. 60 and Roshan sold 4 kg of Apples for Rs. 120. Who gained more profit? 

 

 

 

 

 

10H  ;wkB nB[gks ;koDh go{ h eo'L                                                    

 (Complete equivalent ra�o table) 

 

 

11H 

 

fJZe c?eNoh fJZe fdB ftZu 100 ekoK pDkT[Adh j? sK gzi fdBK ftZu feBz hnK ekoK pDkJ/rh< 

 If a factory produces 100 cars in a day. How many cars will be produced in 5 days? 

     

 

 

 

 

12H  5 ;Nqkp/oh dk w[Zb 15 o[gJ/ j? sK fJZe ;Nqkp/oh dk w[Zb eh j't/rk<                                                            

       5 Strawberries cost Rs. 15. What will be the cost of One strawberry? 

 

 

 

 

 

13   i/eo 4 g?ZBK dk wZb[  12 o[gJ/ j? sK 1 g?ZB dk w[Zb eh j't/rk<  3 g?ZBK dk w[Zb eh j't/rk< 16 g?BZ K dk w[Zb eh jt' /rk<                                                                     

4 pens cost Rs. 12. What will be the cost of 1 pen, 3 pens and 16 pens? 

 

 

 

 

7  63  

8 32  112 

 There is a number in box          such that         , 24, 9, 12 are in equivalent propor�on. Find number in box. 
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Worksheet- 14 

 

                                      

   ;wfwsh   

(Symmetry)
 

1H fdZshnK nkfeqshnK ftZu'A ;wfwsh nkfeqshnK s / ueZ o  

brkU.Circle  symmetric figures. 

 

2H j/m fdZs / jo/e fuZso ftZu dkD/dko o/yk fyZuh rJh j?. 

gsk eo' fe fejVh ;wfwsh o/yk j? ns/ fejVh Bjh. jK iK BK ftuZ  T[~so fdU. In the following figure 

there is a do�ed line on each figure. Find that whether the do�ed line is symmetric line or not. Give 
answer in Yes or No. 

 

 

 

 

3H j/m fdZs/ fuZsoK B{z g{ok eo', id'A fe dkB/dko o/yk fJZe ;wfwsh o/yk jt' /.           

Complete the following figures, where do�ed line is  a symmetric line. 

 

4H j/m fdZs/ fuZsoK dh ;wfwsh o/yktK fyZu'.Draw symmetric lines of the following figures.

 
 

5H j/m fdZs/ fuZsoK ftZu ;wfwsh o/yktK dh frDsh dZ;'. How many symmeteric lines are there in each of the 

following figures?                         
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6H ;koDh g{oh eo'.Fill the Table. 

 

neko (Shape) nkfeqsh (Figure) 

;wfwsh o/yktK dh ;zfynk 

(Number of symmetric 

lines) 

;wG[ih fsqG[i 

(Equilateral Triangle) 

 
 

tor 

(Square) 

 
 

nkfJs 

(Rectangle) 

 
 

;wd'G[ih fsqG[i 

(Isosceles Triangle) 

 
 

uZeo 

(Circle) 

 

 

;wus[oG[i 

(Rhombus) 

 

 

 

7H nzrq/ih dh toBwkbk ftuZ  T[j fejV/ nZyo jB fizBQK dh 

In English alphabets, Which are the alphabets 
whose                                                       

T) ;wfwsh o/yk yVQth jt' / 

symmetric line is ver�cal 

n) ;wfwsh o/yk b/NthA j't/ 

symmetric line is horizontal 

J) e'Jh ;wfwsh o/yk Bk jt' / 

No symmetric line 

;) b/NthA ns/ yVthA d't/A ;wfwsh o/yktK j'D 

Both horizontal and  ver�cal symmetric lines 
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AiDAwie- AwpxIAW sMiKAwvW nMU jwxnw  pUrn sMiKAwvW (KNOWING OUR NUMBERS)  (WHOLE NUMBERS)

WS-16(F)

Class VI         Unit test-1

1. j/m fbZfynK ftZu'A sB qoN CotI tWk Bwj  sMiKAw ikhVI hY? 

Which of the following is the smallest odd Composite number ?

 

a) 5 b) 21 c) 9 d) 15

2. 2735 iv`c 5 dw sQwnk mu`l j?L Place value of 5 in 2735 is:

a) iekweI (ones) b) hzwr (thousands) c) sYNkVw (hundreds) d) dhweI (tens)

3. 847, 9754, 8320, 571 dw G`tdw kRm:

Decending order of 847, 9754, 8320, 571 is:

(a) 847, 571, 8320, 9754      (b) 9754, 8320, 571, 847 

(c) 571, 847, 8320, 9754         (d) 9754, 8320, 847, 571

4. 9,99,999 iv`c 1 joVn qy pRwpq huMdw j?L
On adding 1 in 9,99,999 we get:

(a) ie`k kroV (one crore)     (b)  Cy AMkW dI v`fI qoN v`fI sMiKAw (greatest six digit number) 

(c)  9,99,998                 (d)   s`q AMkW dI CotI qoN CotI sMiKAw(Smallest seven digit number)

5. 8932401 dw ivsiqRq rUp:

Expanded form of 8932401 is:

(a) 81000000 + 910000 + 310000 + 21000 + 4100 + 11

(b)  81000000 + 9100000 + 31000 + 21000 + 4100 + 11

(c) 81000000 + 9100000 + 310000 + 21000 + 41000 + 11

(d) auprokq swry hI[( All of the above)

6. ikMny imlIgRwm qoN ie`k iklogRwm bxdw hY?

How many milligrams make a kilogram?

a) 10 b) 1000 c) 100 d) 1/100

7. hyT ilKIAW iv`coN 69 dw romn AMk kI hovygw?

Which of the following is the Roman numeral for 69.

a) LXXI b) LXIX c) CXIX d) CXXI

8. hyT fbZfynK iv`coN ikhVw ArQhIn hY?

Which of the following is meaningless?

a) VVII b) LIL c) IVC d) VII

9. hyT iliKAW iv`coN ikhVw ivklp sMiKAw nO kroV pMjwh l`K ie`kI nUM AMkW iv`c drsw irhw hY?

Which of the following represents the numeral for Nine Crore Fifty Lakh Twenty One?

a) 90050021 b) 9005021 c) 9000521 d) 95000021

10. j/m fbZfynK ftZu'A sB qoN CotI pUrn sMiKAw ikhVI hY ?

Which of the following is the smallest whole number?

a) 1 b) -1 c) 0 d) iehnW iv`co koeI nhIN(none of these)

11. hyT fbZfynK iv`coN sB qoN CotI nGki sMiKAw ikhVI hY?

Which of the following is the smallest whole number?

a) 1 b) 0 c) -1 d) 2

11. hyT iliKAW iv`coN glq cuxo: Choose  the false statement?
(a) 1 sB qoN CotI pRwikRqk sMiKAw hY[    1 is the smallest Natural number.         

(b) swrIAW pwRikRqk sMiKAwvW, pUrn sMiKAwvW huMdIAW hn[ All natural numbers are whole numbers.

(c) 0 sMiKAw 1 dw ipCyqr hY[ 0  is a predecessor of 1.

(d)  0 dk ipCyqr fJZe g{oB ;zfynk hY[ Predecessor of 0 is a whole number.
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 13. jykr a Aqy b do pRwikRqk sMiKAwvW hox qW hyT iliKAw iv`cNo ikhVw kQn s`c nhIN hY[

If a and b  are any two natural numbers then which of the following statement is not true?

a) a+b=b+a     b) ab=ba         c) a-b=b-a      d) iehnW iv`co koeI nhIN(none of these)

 14. hyTW id`qI sMiKAw ryKw kI drsw rhI hY?

What does the number line represent given below?

a) 4+3=7            b) 4X3=12               c) 4+8=12              d) iehnW iv`co koeI nhIN(none of these)

 15. "sybW iv`coN 3 syb Kwx qoN bwAd 9 syb bwkI bcy" qW j/m fbZfynK ftZu'A ikhVw fJ; kQn B{z shI do;k fojk hY[
“A�er ea�ng 3 apples from 12, 9 apples are le� behind.” Which of the following represent given statement correct?

a) 12-3=9              b) 12+3+15           c) 12-9=3      d) 12+9=3

 16. hyT fbZfynK iv`coN ikhVI sMiKAw sB qoN CotI hY ? 
Which of the following is the smallest number ?

25286,  25245,  25270,  25210

a) 25286              b) 25245           c) 25270      d) 25210

 17. bgYr dhurwauNdy hoey id`qy hoey AMkW 3, 0, 9, 1 nUM vrq ky cwr AMkW dI sB qoN v`fI sMiKAw hY:
The greatest four digit number using digits 3, 0, 9, 1 without repetition is:

a) 9301              b) 9311           c) 9103      d) 9310

 18. ie`k hwl iv`c peIAW 50 kursIAW iv`coN jy 32 BrIAW hox Aqy 18 KwlI hox qW hyT fbZfynK iv`co ikhVw shI hY?

Which of following is true when in a hall 32 chairs are filled from total of 50 and 18 are vacant?

a) 50+32 =18              b) 50 ÷32 = 18               c) 50-32 =18         d) 50 + 18 = 32

 19. auh pUrn sMiKAw ijs dw koeI ipCyqr nhI huMdw?
The whole number which does not have any predecessor?

a) 0              b) 1           c) 2      d) 3

 20. ie`k sMiKAw nwl Bwg dyx dw ArQ hY ik aus sMiKAw nMU vwr-vwr ……………[
Division by a number means, repeated ...........by that number.

(a) joVnw  (Addition)    (b) Gtwauxw (subtraction)      (c) guxw krnw (multiplication)     (d) Bwg dyxw (division)

 21. hyT ilKy pYtrn iv`c Aglw pg ikhVw hovygw?
What will be the next step in given pattern?

a) 4-0=4                        b) 4-4=0                       c) 3-(-1)=4      d) 2-2=0

3-3=0

3-2=1

3-1=2

3-0=3

 22. pUrn sMiKAwvW dy leI ………guxwqmk qqsmk hY[
For whole numbers……. is a mul�plica�on iden�ty.

a) 0              b) 1           c) 2      d) -1

 23. pUrn sMiKAwvW dy leI ………joVwqmk qqsmk hY[
For whole numbers……. is a addi�ve iden�ty.

a) 0              b) 1           c) 2      d) -1

 24. isPr nwl Bwg …………… hY[Division by zero is………..
For whole numbers……. is a addi�ve iden�ty.

a) 1              b) 0           c) -1      d) pirBwiSq nhI (not defined)

 25. j/m fbZfynK ftZu'A fejVh ;zfynk jo/e ;zfynk dk r[DByzv j[zdh j?<
Which of the following numbers is a factor of every number?

a) -1              b) 0           c) 1      d) none of these (T[go'es ftZu' e'Jh Bjh)
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AiDAwie - sMiKAwvW nwl Kyfxw (PLAYING WITH NUMBERS), sMpUrn sMiKAwvW (  dSmlvINTEGERS), 
(DECIMALS), FRACTIONS) iBMnW (

Class VI         Unit test-2

1. hyT iliKAw sMiKAwvW ivco ikhVI sMiKAW 11 nwl BwgXog hY?

Which of the following numbers is divisible by 11?

a) 2146587 b) 2146518 c) 2145539 d) 2146590

 2. sMiKAktK 5 Aqy 12 dk bH;HtH hY: LCM of  numbers 5 and 12 is:

a) 50 b) 60 c) 120 d) 180

 3. 6, 8 Aqy 12 nwl Bwg hox vwlI iqMn AMkW dI sB qo CotI sMiKAw j?L 
The smallest 3-digit number which is exactly divisible by 6, 8 and 12 is:

a) 50 b) 60 c) 120 d) 180

 

4. rwm, Swm Aqy hrnwm ny c`krwkwr rsqy dy duAwly c`lxw SurU kIqw[auh kRmvwr Awpxw c`kr 15 sYikMf, 16 sYikMf

Aqy 18 sYikMf iv`c pUrw krdy hn[ikMny smyN bwAd auh Awpxy SurUAwqI QW qy dubwrw ie`kTy hoxgy?Ram, Sham and

Harnam  started to travel along a circular path. They completed their round in 15 seconds, 16 seconds and
18 seconds respec�vely. A�er how much �me will they reach their star�ng point?

a) 303 sYikMf(seconds) b) 720 sYikMf(seconds) c) 704 sYikMf(seconds) d) 364  sYikMf(seconds)

5. 1 ਤ � 20 ਿਵਚਕਾਰ ਿਕੰਨੀਆ ਂ ਭਾਜ ਸੰਿਖਆਵਾ ਂ ਹਨ ? How many composite numbers are there between 1 and 20?

a) 2 b) 4 c) 6 d) 8

6. ਕਾਲਮ A ਦੀਆ ਂਸੰਿਖਆਵਾ ਂਦਾ ਕਾਲਮ B ਦੀਆ ਂਸੰਿਖਆਵਾ ਂਨਾਲ ਿਮਲਾਨ ਕਰੋ ।Match the column A with column B.

       ਕਾਲਮ A (column A)              �                  ਕਾਲਮ B (column B)

                  36                   ���                              11ਦਾ ਗੁਣਜ (multiple of 11)

                  21                    ����                             12 ਦਾ ਗੁਣਜ  (multiple of 12)

                  18                     ����  ���                           7 ਦਾ ਗੁਣਜ  (multiple of 7)

                  33                    ����  ���                            9 ਦਾ ਗੁਣਜ   (multiple of 9)

7. fJZe fdZsh j'Jh ;zfynk d/ r[DiK dh ;zfynk eh j't/rh<How many mul�ples are there of any given number ?

a) ;hfws (finite)    b) A;hfws (Infinite) c) 1000 d) 100000

 8. 100 s'A S'NhnK tZX s'A tZX brksko ;zfynktK dh frDsh fezBh j't/rh', fizBQK ftZueko e'Jh th nGki ;zfynk Bk j't/L 
How many maximum consecu�ve numbers less than 100 will be such that there is no prime number

between them?

a) 5 b) 6 c) 7 d) 1

 9. sMiKAWvW  -5  Aqy -1 dy ivckwr ikMnIAW sMpUrn sMiKAwvW hn?  How many integers are there between -5 and -1? 

a) 5 b) 4 c) 6 d) 3

10. hyT iliKAW iv`coN ikhVI sMpUrn sMiKAw -6 qoN 4 v`D hY?

Which of the following numbers is 4 more than - 6 ? 

a) 10 b) -2 c) +2 d) -10

11. hyT fbZfynK iv`coN ikhVI  sMpUrn sMiKAw nw Dnqwmk hY Aqy nw hI irxwqmk ? 

Which of the following integer is neither positive nor negative?

a) 1              b) 0           c) -1      d) iehnW ivcoN koeI nhIN(none of these)

12. hyT fbZfynK iv`coN ikhVw ivAMjk a qoN 3 G`t sMiKAw nUM drswauNdw hY?

Which of the following expression represents a number 3 less than a ?

a) 3-a              b) a-3                         c) 3 +a                    d) 3 ÷ a

13. hyTW iv`co ikhVw sB qo v`D qwpmwn dy auCwl nUM drswaNudw hY?

Which of the following shows the maximum rise in temperature?

a) 0 00 C to (qo) 10 C              b) 
0 0

-4 C to (qo) 8 C                 c) 
0 0

-15 C to (qo) -8 C                    d) 
0 0

-7 C to (qo) 0 C

 14. -10 Aqy -15 ivckwr sB qo CotI sMpUrn sMiKAw j?:  The smallest integer lying between -10 and -15 is:

a) -10 b) -11 c) -15 d) -14
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 15. irxwqmk sMpUrn sMiKAwvW dw joVwqmk ault hmySw  ____ huMdw hY[The additive inverse of a negative integers is:

a) irxwqmk (always negative)       b) Dnwqmk (always positive)          c) auhI ;zfynK (same number)      d) isPr (Zero)

 16. irxwqmk sMpUrn sMiKAwvW dw joVwqmk ault hmySw  ____ huMdw hY[The additive inverse of a negative integer is:

a) -1 b) 1/0 c) 1 d) ienHW iv`coN koeI nhIN (None of these)

 17. CwieAw AMikq Bwg leI iBMn j't/rh: fraction representing the shaded portion is: 

a) 4/7         b) 5/7          c) 3/7     d) ienHW iv`coN koeI nhIN (None of these)

 18. 11/5 dk imSrq fGzB rUp j't/rk:   11/5 as a mixed  fraction will be:

a) 2         b) 2         c) 3     d) 41
5

2
5

3
5

2
5

 19. ie`k twhxI qy 12 pMCI bYTy hn, jy iehnW iv`c 3 icVIAW  Aqy 5 qoqy hox Aqy bwkI kbUqr hox qW kbUqrW nUM ikhVI

iBMn drsweygI ? There are 12 birds sitting on the branch of a tree. If there are 3  sparrows and 5 parrots and rest
are pigeons then what will be the fraction for pigeons?

a) 3/12 b) 4/12 c) 5/12 d) 7/12

 20. suirMdr A`DI rotI KWdw hY Aqy rvI ie`k Aqy A`DI rotI KWdw hY[doNnw ny ku`l ikMnIAW rotIAW KwDIAW? Surinder eats
half Chapati and Ravi eats One & Half Chapaties. The total number of Chapaties eaten by both are:

a) 3 b) 4 c) 1 d) 2
1
2

 21. hyT iliKAW iv`coN ikhVI Awpxy inaUnqm pd iv`c nhIN hY?Which of the following is not in its lowest form?

a) 7/5 b) 15/20 c) 13/33 d) 27/28

 22. ikhVI iBMn 4/5 dy qul nhIN hY: The fraction which is not equivalent  to 4/5  is:

a) 40/50 b) 12/15 c) 16/20 d) 9/15

 23. joVo: (Add): 4   + 2  

a) 6         b) 7         c) 6     d) 61
3

3
6

1
3

1
3

2
3

 24. 6 GMty ie`k idn dI ikhVI iBMn hY? What fraction of the day is 6 Hours?

a) 1/4 b) 1/6 c) 1/12 d) 1/2

 25. 27.35 iv`c 5 dw sQwnk mu`l j?L Place value of 5 in 27.35 is:

a) dsvW (tenths) b) sOvW (hundredths) c) sYNkVw (hundreds) d) dhweI  (tens)

 26. j/m fbZfynK ftZu'A 52 rupey Aqy 2 pYsy nUM dSmlv rUp iv`c ikvyN ilKdy hW ?

a) Rs 52.2            b) Rs 522                   c) Rs 52.02           d) Rs 52.20

Which of the following represents the decimal form of 52 rupees and 2 paise ?

 27. hyTW id`iqAW iv`coN ikhVIAW dSmlv sMiKAwvW G`tdy kRm iv`c hn?

(a) 0.434, 0.48, 0.344, 0.349                                (b) 0.494, 0.49, 0.41, 0.4

(c) 0.345, 0.33, 0.3, 0.434                                     (d) 0.4, 0.31, 0.410, 0.444

Which of the following decimals are in decending order:

 28. 98.53 ÷ 100 = ……….

a) 0.9853      b)  9853                      c) 9.853 d) 53.98

 29. sMiKAw 11 +    +   + dw dSmlv rUp: 
11
10

11
100

11
1000

 The decimal form of  11 +    +   +     is: 
11
10

11
100

11
1000

a) 11.448        b)  12.884                      c) 12.221 d) 13.284

 30. 0.002 + 2.02 + 0.22  = 

a) 2.222         b)  2.242                     c) 2.202          d) 2.026

 31. 27.65 + 18.402  - 2.39  +  7.63  = ……….

a) 21.691              b)  216.91                  c) 56.072         d) 51.292



WS-18(F)

AiDAwie- m`uFlIAW ryKw gixqk DwrnwvW  Anupwq Aqy smwn Anupwq (RATIO AND (BASIC GEOMETRICAL IDEAS),
PROPOTION), bIj gixqk (  AwrMiBk AkwrW nMU smJxW (UNDERSTANDING ELEMENTARY SHAPES)ALGEBRA),

Class VI         Unit test-3

1. Ku`lI ikqwb dw id`qw igAw ic`qr iks kox nUM drswauNdw hY?

Which type of the angle is represented by the open book in the given figure?

(a) inaUx kox (acute angle) ���  (b) AiDk kox (obtuse angle)  (c) irPlYks kox (reflex angle) �� (d) smkox (right angle)

(a)  smWqr ryKwvW   (Parallel Lines) ��        (b)  kwtvIAW ryKwvW (Intersecting lines)

(c)  ie`k bMd AwikRqI (Closed figure) ��       (d) iehnW iv`coN koeIN nhIN(None of these)

2. id`qy ic`qr iv`c hyT iliKAW iv`coN ikhVIAW ryKwvW nUM drswieAw igAw hY?

From the following, Which type of lines are shown in given figure?   

a) ryKw(line) b) ikrn (ray) c) ryKw KMf(line segment) d) iehnW iv`co koeI nhI (None of these)

(a)  myj dy nwl lgdy iknwry (The adjacent edges of a table top) 

(b)  ryl g`fI dI ptrI (a railway track)

(c)  A`Kr ' X' bxwaux leI vrqy ryKwKMf ( line segments forming letter 'X ')           

(d)  A`Kr 'V' bxwaux leI vrqy ryKwKMf (line segments forming le�er 'V')

3. hyT iliKAW ivcoN ikhVw smWqr ryKwvW dI adwhrn nUM drswauNdw hY? 

Which of the following represents an example of parallel lines? 

4. hyT iliKAW iv`coN iksdw AwrMiBk ibMdU nhI huMdw? Which of the following has no star�ng point?

a) ie`k (one) b) do (two) c) Axigxq (infinite) d) koeI vI nhIN (none)

a) ArD ivAws (Radius) b) kyNdr (center) c) ivAws (Diameter) d) iehnW iv`co koeI nhI (None of these)

5. c`kr dI sB qoN v`fI jIvw _____ khwauNdI hY[The biggest chord of a circle is called______

6. vkr ijsdy isry Awps iv`c bMd hox,__________ vkr AKvwauNdI  hY[

Curve with closed ends is called______. 

a) ryKw(line) b) KulI vkr (Open curve) c) bMd vkr(Closed curve) d) koeI vI nhI (none of these)

7. do ibMdUAW iv`co ikMnIAW ryKwvW lMG skdIAW hn?How many lines can pass through two points? 

a) iqRBuj(triangle) b) Gxwv(cube) c) cqurBuj(quadrilateral) d) pMjBuj(pentagon)

8. hyT iliKAW iv`coN iks bhuBuj dy ivkrn nhIN huMdy?Which of the following polygon has no diagonal?

9. cwr Bujw vwly bhuBuj nMU ________ AwKdy hn[ Polygon with four sides is called_______.

a) iqRBuj(triangle) b) cqurBuj(quadrilateral) c) gziG[i (pentagon)         d) iehnW iv`co koeI nhI (none of these)

10. ਘੜੀ ਦੀ ਿਮੰਟਾਂ ਵਾਲੀ ਸੂਈ ਇੱਕ ਘੰਟ ੇਿਵੱਚ ਿਕੰਨੇ ਿਡਗਰੀ ਦਾ ਕੋਣ ਤੈਅ ਕਰਦੀ ਹ?ੈ

How many degrees the minute hand of a clock will cover in one hour?

a) 090 b) 0180 c) 0270  d) 0360

11. kox mwpk ikMny ifgrI q`k kox mwp skdI hY?
What is the maximum measure of an angle that can be measured using protractor ?

a) 060 b) 090 c) 0180  d) 0270

11. lMb ryKwvW Awps iv`c ikhVy iksm dy kox qy k`tdIAW hn?

At which angle, the perpendicular lines intersect each other?

(a)  inaUn kox qy (Acute angle)                        (b) AiDk kox qy (Obtuse angle)   

(�c)  smkox qy (Right angle)                                (d) srl kox qy (Straight angle)   

(a) iqMnoN inaUn kox ho skdy (All angles may be acute)         (c) iqMnoN AiDk kox ho skdy (All angles may be obtuse) 

(�b) iqMnoN smkox ho skdy (All angles may be right angle)     (d) ienHW iv`coN koeI nhIN  (None of these)

12. iksy iqkox dy AMdrUnI koxW leI ikhVw kQn shI hY ? 

Which statement is true for interior angles of triangle.
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 14. qusIN c`kr dw ikMnHW Bwg GuMm jwEgy jykr qusIN p`Cm v`l mUMh krky KVy ho qy GVI dI idSw iv`c GuMmky pUrb v`l mUMh 

kro? What part of a revolution have you turned through if you stand facing west and turn clockwise to face east?

a)         b)         c)     d)1
2

1
3

1
4

1
5

15. hyT ilKIAW iv`coN ikhVw ivAMjk a qoN 3 G`t sMiKAw nUM drswauNdw hY?

Which of the following expression represents a number 3 less than a ?
a) 3-a         b) a-3         c) 3 +a     d) 3 ÷ a

16. ie`k pytI iv`c 50 AMb hn[ jykr pytIAW dI sMiKAw b hovy qW AMbW dI ku`l sMiKAw pqw kro?  

If there are 50 mangoes in a box, what will be number of mangoes if there are b number of boxes.
a) 3+b         b) 3b         c) 50b     d) 50+b

17. oth dh wksk dh toswkB T[wo, oth dh toswkB T[wo s'A fsrDh j?. 5 ;kb bwAd donW dh T[wo dk

i'Vcb j't/rkLThe present age of Ravi's mother is three �mes the age of Ravi. The sum of their age

a�er 5 years will be:

a) 3x+5         b) 2x+5         c) x+5     d) 4x+5

18. fe;/ ;zfynk d/ d[rD/ ftZu 5 i'VB s/ ftnzie gqkgs j[zdk j?L The sum of twice a  number and 5 is wri�en as:

a) x+7         b) 2x+5         c) 5x+12     d) 5x+2

19. ie`k smCyBuj dI ie`k Bujw l nwl drsweI geI hY[ ies dw pirmwp l  dI vrqoN krky ilKo[
The side of a regular hexagon  is denoted by l. Express the perimeter of the hexagon using l.

a) l                              b) 6l         c) 6
 l      d) 2

l 

20. hyT iliKAW iv`coN ikhVw isr& sMiKAw nwl bixAw ivAMjk hY?
Which of the following is expression  with numbers only?

a) y+3  b) (7 × 20) – 8z c) 5 (21 – 7) + 7 × 2  d) 5m

21. ie`k cqurBuj bxwaux leI mwcs dIAW ikMnIAW qIlIAW dI vrqMo huMdI hY[

a) 4         b) 3         c) 2    d) 5

22. do rwSIAW dy Anupwq dI iekweI kI huMdI hY: What is the unit of   ra�o of any two quan��es? 

(a) koeI iekweI nhIN huMdI  (No unit )            �                            (b) pihlI rwSI vwlI iekweI (unit of the first quan�ty)

(c) dUjI rwSI vwlI iekweI (unit of the second  quan�ty)    (d) iehnW iv`coN koeI nhIN (None of these)

23. ie`k kuiez mukwbly iv`c shI au`qrW dI sMiKAw dw glq au`qrW dI sMiKAw nwl Anupwq 5:2 hY[ jykr 16 au`qr glq

hn, qW shI au`qrW dI igxqI hY: In a quiz compe��on, the ra�o of number of correct answers to the number of 

incorrect answers is 5: 2. If 16 incorrect answers are  given, then the number of correct answers is:

a) 80         b) 30        c) 20     d) 40

24. hyT iliKAW iv`coN ikhVy smwn Anupwq iv`c hn ? Which of the following are in proportion?

a) 10, 12, 6, 5         b) 6, 10, 12, 5         c) 5, 6, 10, 12    d) 5, 6, 12, 10

25. jy iek kwr 3 GMty iv`c 120 ikmI  dI dURrI qYA krdI hY qW kwr duAwrw 5 GMty iv`c qYA kIqI  dUrI brwbr hY:

If distance travelled by a car in 3 hours is 120 kms, then distance travelled by the car in 5 hours is:
a) 200km         b) 160km         c) 100km     d) 150km

26. hyT iliKAW iv`coN ikhVw Anupwq  18:12 dy brwbr hY[The ratio equivalent to 18 : 12 is

a) 2 : 3         b) 3 : 2         c) 5 : 1     d) 1 : 5

27. jy  x:6 =55:11 qW x dw mu~l pqw kro[If  x : 6 = 55 : 11, then find the value of x.

a) 30         b) 18         c) 24     d) 66

28. ie`k kwr A`Dy GMty iv`c 60 ik.mI. dI dUrI qYA krdI hY[ 30 ik.mI. dI dUrI qYA krn leI ikMnw smW l`gygw?

A car travels 60 km in half an hour. How much �me is required to cover 30 km with the same speed?

a) 20 imMt(min)         b) 30imMt(min)        c) 50imMt(min)     d) 60imMt(min)
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Class VI         Unit test-4

1. id`qy ic`qrgRw& qoN lwl rMg nUM psMd krn vwly ivAkqIAW dI sMiKAw ikMnI hY ? 

AiDAwie - AMkiVAW dw pRbMDn (DATA HANDLING), gq:'fre finkfwsh (PRACTICAL GEOMETRY), smimqI

(SYMMETRY), KyqrimqI (MENSURATION)

From pictograph, find how many people like red colour?

a) 45 b) 50 c) 55 d) 60

rMg      AwdmIAW dI 

(pRSn 2 qoN 4 leI) ie`k ipMf iv`c Cy PlW dy vpwrIAW duAwrw iksy mOsm

iv`c hyT iliKAW Anuswr PlW dIAW tokrIAW vycIAW geIAW[id`qy ic`qrgRw& qoN

hyT iliKAW dy au~qr idau: 
(Ques�on 2 to 4) In a village six fruit merchants sold the following number of fruit baskets in a par�cular season. 

Observe the pictograph and answer the following: 

2. gopwl duAwrw ikMnIAW PlW dIAW tokrIAW vycIAW geIAW? How many baskets were sold by Gopal?

a) 70 b) 600 c) 700 d) 675

3. ikrn duAwrw hrI nwloN ikMnIAW G`t tokrIAW vycIAW geIAW? How many less baskets sold by Kiran than Hari?

a) 800 b) 150 c) 950 d) 100

4. auhnW vpwrIAW dy nW d`so ijhnW ny 600 jW 600 qoN v`D tokrIAW vycIAW[

Name the merchants who have sold 600 or more number of baskets.

(a)  BwnU, hrI, gopwl (Bhanu, Hari, Gopal)               (b) gopwl,hrI, ikrn (Gopal, Hari, Kiran)    

(c) gopwl, hrI, BwnU (Gopal, Hari, Bhanu)                 (d) hrI, ikrn, Bwn U(Hari, Kiran, Bhanu)

5. jykr ie`k      10 kok dIAW boqlW nUM drswauNdw hn qW 25 boqlW ikvyN drsweIAW jw skdIAW hn? 

If one      represents 10 bo�les of coke then how is 25 bo�les of coke represented? 

a) b) c) d)

(pRSn- 6 Aqy 7 leI) -ies CV gRw& nUM dyKo, jo ie`k rYfImyf k`pVy dI dukwn iv`c somvwr qoN SnIvwr q`k hoeI 

kmIzW dI ivkrI nUM   drswauNdw hY[hyT ilKy pRSnW dy au`qr idau:

 

 

Observe this bar graph which is showing the sale of shirts in a ready

made shop from Monday to Saturday. Now answer the following

ques�ons :

6. ikhVy idn sB qoN izAwdw kmIzW vycIAW geIAW? 

(a) somvwr (Monday)              �(�b) mMglvwr (Tuesday)       

(c) SnIvwr (Saturday)            (��d) vIrvwr (Thursday)     

On which day were the maximum number of shirts sold?

7. vIrvwr nUM ikny pRqISq kmIzW vycIAW geIAW, jykr aus h&qy iv`c ku`l 700 kmIzW vycIAW geIAW hox? What

percent of shirts were sold on Thursday, if 700 shirts were sold in that week?

a) 10 b) 20 c) 30 d) 40
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8. jykr iksy Awieq dI lMbweI L  Aqy KyqrPl A hY qW iesdI cOVweI kI hovygI ? 
If length of a rectangle is L  and its area is A, then its breadth is:

a)         b) L + A          c)     d) A x LA
L

L
A

9. ie`k rumwl dy Awly-duAwly lys lgwaux leI,swnUM hyT iliKAW iv`coN kI pqw hoxw cwhIdw hY?
Which of the following should be known to buy  lace which is to be put around a handkerchief?

(a) iesdw pirmwp (its perimeter)            ���                                  (b) iesdw  KyqrPl (its area

(��c) iesdw pirmwp Aqy KyqrPl dovyN(both area and perimeter)  (d) iehnW iv`coN koeI nhI(none on these)

10. jykr iksy Awieq dI lMbweI L  Aqy cOVweI B hY qW iesdw KyqrPl kI hovygw ?
If length of a rectangle is L  and its breadth is B, then its area will be:

a) 2L x B         b) L + B          c) L - B     d) L x B

11.
2

jykr vrg dw KyqrPl 225 sm  hY qW ausdI Bujw kI hovygI?
2  If area of a square is 225 cm then what will be the length of its side?

a) 15 sm (cm)         b) 60 sm(cm) c) 225 sm(cm) d) 30 sm(cm)

12. 50 mItr lMbweI vwly ie`k Awieqwkwr bwg dw KyqrPl 300 vrg mItr hY bwg dI coVweI kI hY? 
The length of a rectangular park whose area is 300 square metres is 50 metres. What is its breadth?

a) 4m         b) 6m c) 8m d) 1500m

13. sm Cy Buj dw pirmwp kI hovygw ijs dI hryk Bujw dI lMbweI 8 mItr hY?
What will be the perimeter of regular Hexagon Whose each side of length 8 metre ? 

a) 14 mI(m)         b) 48 mI(m) c) 10 mI(m) d) 50 mI (m)

14. iek qwr dy tukVy dI lMbweI 12 sm hY[aus nUM moV ky vrg bxwieAw igAw hY vrg dw KyqrPl kI hovygw?
The length of a wire is 12 cm. A square is formed by folding it. What will be the area of the square? 

a) 2 36cm          b) 2 144cm c) 2 9cm d) 212cm

15. iek iqRBuj dIAW do BujwvW 12 sm Aqy 14 sm hn[ ies iqRBuj dw pirmwp 36 sm hY[qIsrI Bujw dI lMbweI kI hY?

Two sides of a triangle are 12 cm and 14 cm. The perimeter of the triangle is 36 cm. What is length of the

third side?

a) 18cm         b) 26cm c) 10cm d) 20cm

16. ie`k sm pMjBuj dw pirmwp 100 cm hY[ iesdI hryk Bujw dI lMbweI kI hovygI?
The perimeter of a regular pentagon is 100 cm. What will be the length of its each side?

a) 4        b) 25 c) 20 d) 50

17. ie`k Awieqkwr g`qy dy tukVy dw KyqrPl 45 vrg sm Aqy iesdI lMbweI 5 sm hY[Awieqkwr g`qy dI cOVweI hY: 
The area of a rectangular piece of cardboard is 45 cm sq and its length is 5 cm. The width of the

cardboard is —————–

a) 9cm        b) 4cm c) 7cm d) 8cm

18. ie`k vrgwkwr Aqy Awieqkwr plwt dw pirmwp smwn hY[jykr vrg dI Bujw 40 mI Aqy Awieq dI lMbweI 50 mI

hY qW Awieq dw KyqrPl hY:   A square and a rectangular plot of a land have same perimeter. If the square

is of side 40 m and rectangle is of length 50 m. Then area of rectangle is

a)
2

 200sm vrg(cm )        b)
2

 150sm vrg (cm ) c)
2

 1500sm  vrg (cm ) d) 
2

1600 sm vrg(cm )

19. ie`k smdoBujI iqRBuj iv`c ________ smimqI ryKwvW huMdIAW hn[
Symmetry lines in Isosceles triangle are ____________  

a) ie`k (one)        b) do (two) c) iqMn(three) d) koeI nhIN (none)

20. ie`k c`kr dIAW smimqI ryKwvW dI igxqI huMdI hY:
The number of symmetry lines in a circle is

a) 0        b) 2 c) 4 d) Axigixq (Infinte)

21. hyTW ilKy gey A`KrW iv`co ikhVy A`Kr dI koeI vI smimqI ryKw nhIN hY?
Which of the following le�ers does not have any line of symmetry?

a) M        b) S c) K d) H
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Class VI     Miscellaneous Exercise

1. hyT iliKAW ivcoN ikhVy AMk dI kyvl ie`k smimqI ryKw huMdI hY?

Which of the following digits has only one line of symmetry ? 

a) 1         b) 3          c) 5     d) 7

2. hyT iliKAW ivcoN ikhVIAW AwikRqIAW dI do smimqI ryKwvW hn?

Which of the following figures has  two lines of symmetry ? 

a)          b)          c)     d)    

3. hyT iliKAW ivcoN ikhVy A`KrW dI kyvl KVvIN smimqI dI ryKw huMdI hY?
Which of the following alphabet has ver�cal line of symmetry ?

a) M         b) B          c) C     d) D

4. id`qI AwikRqI dIAW ikMnIAW smimqI ryKwvW hn?
How many lines of symmetry are there in given figure ?

a) 0         b) 1          c) 2     d) 4

5. ie`k iqRBuj iv`c ………. qoN v`D smimqI ryKwvW nhIN ho skdIAW?
A triangle  cannot  have  more than …….. lines of symmetry ?

a) 1         b) 3          c) 2     d) 0

6. bgYr duhrwauNdy hoeyy AMkW 3, 0, 9, 1 nUM vrq ky cwr AMkW dI  v`fI qoN v`fI sMiKAw hY:
The greatest four digit number using digits 3, 0, 9, 1 without repetition is:

a) 9301         b) 9311          c) 9103     d) 9310

7. ie`k hwl iv`c peIAW 50 kursIAW iv`coN jy 32 BrIAW hox Aqy 18 KwlI hox qW hyT id`iqAW iv`co ikhVw shI hY?
Which of following is true when in a hall 32 chairs are filled from total of 50 and 18 are  vacant.

a) 50+32 =18         b) 50 ÷32 = 18          c) 50-32 =18     d) 50 + 18 = 32

8. ie`k idn iksdy brwbr huMdw hY[ One day  is equal to……………

a) 12x12 GMty(hours)         b) 60x60 sYikMf(seconds)          c) 24x 60 imMt (min)     d) 360 swl(years)

9. j/m fbZfynK ftZu'A fejVk ;fj^nGki ;zfynktK dk i'Vk j?<Which of the following is pair of co-primes?

a) 6 and 8         b) 18 and 35 c) 7 and 35    d) 30 and 415

10. 3  Aqy 9 Bkb Gki:'rsk gsk ehsh ik ;edh j?L  Divisibility by 3and 9 can be checked by:

a)   nzeK d/ i'V Bkb  (sum of digits)         b) nkyoh nze s'A (last digit)  

c)   nkyoh d' nzeK s'A (last two digits)      d)  nkyoh fszB nzeK s'A (last three digits)

11. iksy  sMiKAw ryKw qy isPr s'A 5 fJekJhnK s`jy pwsy ikhVI sMpUrn sMiKAw huMdI hY?
On any number line which integer is 5 units to the right of zero (0) ?

a) +5         b) -5 c) +4     d) -4

12. h`l kro: (Solve) : 1+ 2 + 3 + (-1) + (-2) +(-3)

a) -6         b) -12          c) 0     d) 12

13. -1 Aqy 1 ivckwr ikMnIAw sMpUrn sMiKAwvW hn? Number of integers lying between -1 and  1.

a) 1         b) 2          c) 3     d) 0

14. -1 dI ipCyqr sMpUrn sMiKAwvW ikhVI hY? The predecessor of the integer -1 is.

a) 0         b) 2          c) -2     d) 1

15. hyT iliKAW iv`coN 7/8 Aqy  3/8  dw AMqr ikhVw hY?
Which of the following is the difference of  7/8 and 3/8?

a) +5         b) -5 c) +4     d) -4

16. 16 sm 7 immI  nUM  mItr iv`c bdlx nwl pRwpq huMdw hY: Conversion of 16 cm 7mm in meters is:

a) 1.67         b) 0.167          c) 16.7     d) ienHW iv`coN koeI nhI (none of these)
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17. GVI dI GMitAW vwlI sUeI 12 qoN 6 q`k cldI hY[smkoxW dI igxqI pqw kro?
The hour hand of a clock moves from 12 to 6. Find the number of right angles?

a) 1         b) 2         c) 3  d) 4

18. mwics dIAW qIlIAW nwl iqRBuj bxwauNx dI koiSS kro[hyT id`qI iks siQqI iv`c qusIN iqRBuj nhIN bxw skdy?
Try to make a triangle with the help of matchsticks. In which  of the following situations, will you be 

Unable to make a triangle?

(a)  3 qIlIAW nwl (With 3 matchsticks)                            (c) 5 qIlIAW nwl (With 5 matchsticks)

(�b)  4 qIlIAW nwl (With 4 matchsticks)                             (d) 6 qIlIAW nwl (With 6 matchsticks)

19. ie`k cqurBuj bxwaux leI G`to G`t ikMny sY~t-sukyArW dI vrqoN krogy[
How many (minimum) set-squares are needed to  make  a quadrilateral?

a) do (Two)         b) iqMn  (Three)        c) cwr (Four)  d) pMj (Five)

20. sB qoN G`t BujwvW vwly bhuBuj nUM kI ikhw jWdw hY?
A polygon with the least number of sides is called?

a) pMjBuj(pentagon)         b) Cy Buj (hexagon)        c) cqurBuj(quadrilateral)  d) iqRBuj(triangle)

21. hyT iliKAW iv`coN ikhVw Awkwr iqMn-pswrI nhIN hY?
Which of the following is not a 3-Dimensional shape?

a) vylx (Cone) b) SMkU (Cylinder)        c) Gxwv (Cuboid )  d) c`kr (Circle)

22. jykr n = 3 hYY qW 4n dw mu`l pqw kro[ 
If n = 3 then find the value of 4n ?

a) 14 b) 15        c) 12  d) 6

23. jyykr Awieq dI lMbweI l  Aqy coVweI b  hovy qW ies dw KyqrPl kI hovygw[
If length of rectangle is l and  breadth is b. What will be its area?

a) l + b b) 2l + 2b        c) 2l + b  d) lb

24. jykr bwlU ,rwjU nwloN 3 swl Cotw hYy[ rwjU 9 swl dw hY,qW bwlU dI aumr pqw kro[
If length of rectangle is l and  breadth is b. What will be its area?

a) 3 ;kb b) 6 ;kb        c) 4 ;kb  d) 5 ;kb

(pRSn 25 Aqy 26 leI) ipCly h&qy iv`c 30 ividAwrQIAW dI jmwq iv`c gYr hwzr rihx vwly ividAwrQIAW dI 

sMiKAw hyT id`qy ic`qr AwlyK iv`c ivsqwrpUrvk idKweI geI hY:  

The following pictograph shows the number of absentees in a class of 30 students during the previous week:

a) somvwr (Monday) b) mMglvwr (Tuesday)        c) SnIvwr (Saturday)  d) vIrvwr (Thursday)

25. iks idn sB qoN izAwdw ividAwrQIAW gYr hwzr sn?
On which day  maximum number of students were absent?

a) somvwr (Monday) b) mMglvwr (Tuesday)        c) SnIvwr (Saturday)  d) vIrvwr (Thursday)

26. iks idn hwzrI pUrI sI?
On   which day  the a�endance was full?

27. jykr Awieq dI lMbweI L  Aqy KyqrPl A hY qW cOVweI kI hovygI ?
If length of a rectangle is L  and its area is A, then its breadth is:

a)         b) L + A          c)     d) A x LA
L

L
A
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